1. Partition the number to place value. Please use small letters to write the answer.

125 687 =

612 845 =

105 900 =

2. Partition the number to digit value.

125 687 =

612 845 =

105 900 =
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3. Answer the guestion correctly.

i. Zainal is doing a math homework. He write the number 456 813 minus 134 201.
What is the place value of digit 3 in the answer of Zainal math homework?

ii. Vinod and Chris were buying a houses. The price is RM420 105 and RM381 995.
Write the partition in digit value for the total price of their houses.
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